Name ______________________




Date ______  Class ______
Homework: Sets of Numbers & Properties



Mr. Lynch

Complete the following matching column.  Place the corresponding letter next to the number in the space provided.
_____ 1) If 9 + 3 = 12, then 12 = 9 + 3


A) Reflexive

_____ 2) 9 ∙ (3 ∙ 2) = (9 ∙ 3) ∙ 2



B) Additive Identity

_____ 3) 8 + 4 = 4 + 8




C) Multiplicative Identity

_____ 4) 19.1 + 0 = 19.1




D) Assoc. Property of Mult.

_____ 5) (4 + 5) + 6 = 4 + (5 + 6)



E) Transitive

_____ 6) 19 – 4 = 19 – 4




F) Assoc. Property of Add.

_____ 7) If 2 + 2 = 4 and 22 = 4, then 2 + 2 = 22.

G) Symmetric

_____ 8) 9 ∙ 0 = 0





H) Comm. Property of Add.

_____ 9) 44 ∙ 1 = 44





I) Mult. Property of Zero

_____ 10) 11(x - 8) = 11x - 88



J) Distributive

Decide whether each of the following is rational or irrational:
1) 5.4

________________

6) 9.99999999...
____________

2) 5.45634....
________________

7) 0


____________

3) 11.565656..
________________

8) 14.25

____________

4) -17

________________

9) -17.565766...
____________

5) 44.1234...
________________

10) -14.08654375
____________
